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Advanced Accounting
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Bachelor of Commerce (B.Com-17)

Second Year Examination, 2022 (June)
Time : 2 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein.
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SECTION-A/( @US-%h )
(Long Answer Type Questions)/( €&l 3T a1 W9)

Note : Section 'A' contains Five (05) long answer type
questions of Twenty (20) marks each. Learners are
required to answer any Two (02) questions only.

(2x20=40)
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1. What is the meaning of Royalty ? What is the difference
between Royalty and Rent ?

AFR Yoob F T WA 87 AUEHR Yok R R
i IR ©?

2. A Colliery company purchases wagans from hire under on
the hire purchases system over a term of two years starting
on 1 April, 2018. The instalment of ¥ 40,000 each are
payable half yearly. The present cash value of wageon is
T 1,48,700 and the wagon company charges interest at the
rate of 6% per annum working on half yearly rates. Draft
the necessary journal entries to record these transactions in
the books of the Colliery company. Prepare also the wagons
account. Books are closed every year on 31st March.

TF HIO FEA A | S, 2018 F A A4S HI A
Tl fRET-oRa WOTelt W SNl Wl feRvEn-fashar © e
fren v forea ® 40,000 1 €, T soEl o s
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FH 1 @A @ifu @ gfdes 31 6" skl @< fRu
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Balance sheet of A, B and C who shared profits and losses
in the ratio of 6 : 5 : 4 respectively as on 31st March, 2018

was as under :

Capital and Amount Assets and Amount
Liabilitie % Properties 3
Sundry creditors 1,50,000 Land and building 5,00,000
Bills payable 70,000 Furnitures 75,000
Capital : Stock 3,80,000
A 4,00,000 Debtors 1,50,000

B 3,50,000 Bills receivable 75,000

C 2,50,000 10,00,000 Cash in hand 40,000
12,20,000 12,20,000

It was decided to admit D on ist April, 2018 and given him
1/10 share in profits according to the following terms :

(@) The new partner would brings in < 15,000 as his share
in capital and X 70,000 as goodwill in cash which will
directly be taken by the old partners.

(b)
at ¥ 6,6,000.

(©
(d)

Stocks would be revalued at ¥ 3,40,000 and furniture

Provision for bad debts to be made ¥ 13,000.
Land and building to be appreciated by ¥ 1,50,000.

Pass necessary Jourmal entries to record the above
transactions prepare necessary ledger accounts and new
balance sheet of A, B, C and D.
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fafay @R 1,50,000 9fF o wed 5,00,000
3 fom= 70,000 AR 75,000
LEil ESico 3,80,000
31 4,00,000 3T_R 1,50,000
T 3,50,000 IS CEE] 75,000
¥ 2,50,000 10,00,000 I T H 40,000
12,20,000 12,20,000
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4. Goods are invoiced by H.O. to its branch at Lucknow at
20% profit on sale price. All the expenses of the branch are
paid by H.O. branch keeps only debtors and sales ledger.
Prepare Lucknow branch account by personal account
methods and its trading and profit and loss account for the
year ended at 31st March, 2018 from the particular of the

branch :

Opening stock invoice price 60,000
Goods received from H.O at invoice price 75,000
Goods in transit from H.O. on 31st March 4,500
Expenses of branch paid by H.O. 26,000
Cash sales 43,750
Cash received form debtors 94,750
Closing stock at invoice price 45,000
Debtors on 31st March, 2018 22,900
Credit sales 1,02,500

e &Eed gN ofEds Il i fasl qoa w 20%
A R AT SOl W@ 2l e gt o g wEied
N M fFd W Bl Wl shed SRR @rEel 3R
foer! WaEE! W B e & e e & enER
W™ 31 HE @A 2018 HI THI B Ot o9 &% fau
Y SR @ fafy ¥ @R gEeh S e oy
T | SR

yRftyer @i (sfisi o) 60,000

e SEed | s ged T ww R 75,000
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31 W™, 2018 & & ®EEE 9 99
gl " "E H 4,500
@ % A R JE SEed gN TaE 26,000

REZSREED] 43,750
SRR ¥ U YRS 94,750
At e (s qoo) 45,000
31 W, 2018 A ITQR 22,900
IYR Toroht 1,02,500

5. Discuss the different kinds of shares and debentures. Also
state the difference between shares and debentures.

fafe= @& & el SN smovE o 9l wifey) SfEn Sl
FO T OH SR TR Hifsm)

SECTION-B/( ©@US-@)
(Short Answer Type Questions)/( g I AT Y9T)
Note : Section 'B' contains Eight (08) short answer type

questions of Ten (10) marks each. Learners are required
to answer any Four (04) questions only. (4x10=40)

M : Tus ‘@ H IS (08) oY S ad WA &
™ ?, Y% U % fau <@ (10) 3w fuifa
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1. Fire broke out in a factory one Ist Oct., 2015. Opening
stock on 1st April, 2015 was of ¥ 30,000. Purchases upto
the date of fire was ¥ 60,000. The rate of gross profit on
sales is 20%. Sales upto date of fire amounted to ¥ 1,00,000.

freifra foeror @ oW o A & w1 qgeaied
FHIWT| TH HRE@H H 1 TFR, 2015 1 A T T
1 o 2015 1 YRS AT € 30,000 1 HA 4
fa T oenl Wehel o9 X faet W 20% B e
o el fafa 9w w1 fae 5100000 2

2. Find out goodwill by capitalisation method from the
following information : Normal rate of return 10%. Profit
for the last three years are ¥ 30,000, ¥ 40,000 and X 50,000
respectively. Non-recurning income of I 3,000 is included
in the above mentioned profit of I 30,000. Average capital
employed is < 3,00,000.

freifera gamietl & eTuR R geienor fafy g0 @nfa =1
i1 FeRrfeie) o™ & TER ST 10%1 7| 9 a6 & arg
S 30,000, T 40,000 3 T 50,0000 TEH H 2
30,000 & @ § ¥ 30,000 9R-9R A BH Al W o
fFe 21 efa FrEeH St 2 3,00,000

3. Write the method of finding out expenses of incomplete
voyage.

AP W A S I@ e & fafu fafew
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4. How are unrealised profits calculated ? Explain by taken an
example.

T o gL N 1 MUAT kA I ST B2 TH SR
IR TR FHifTU

5. What is Amalgamation in the natures of merger ?

foei &1 Whid H Thiol 1 €2

6. Describe the objectives of departmental accounts.

foarfa @ ® 3ITREA ® TR

7. What do you mean by for faiture of shares ?

e ® B0 W Y T HHIAA B?

8. Give specimen of statement of Affairs.

feofg foeror &1 T sy
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